Big Data Processing

Homework 7
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Exercise 1

Compute the steady-state probabilities of the following graph

Note:
1. Initial probabilities are are 1/N (N is the number of nodes)

Exercise 2

Compute the PageRank of each node for the following graph:
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1. Write down the column-stochastic matrix for the graph.

2. Write down the final column-stochastic matrix used for PageRank
calculation. Use § = 0.9 for random teleportation.

3. Compute the PageRank value for each of the node in the graph (one
iteration)
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Exercise 3

A Graph has the following edges: (a0, b0), (a0, b1), (al, b2), (al, b3), (a2,b0),
(a2,bl), (a3,b2) and (a3,b3). List all perfect matchings this graph have.
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